Exploded View Spare Parts

WWW.I:hﬂiI'ISBWSpHI"ES.BI]I'I'I.HI.I

1&28&4 PJ66031- Crankcase Assy For Perla Barb 91.6cc Chainsaw
3 PJ66005A Qrankcase Gasket For Perla Barb 91.6cc Chainsaw
6 TM04120 Spline Screw M4X12(For tightening brake cover & oil pump)
7 PJ29090 Connector For CylinderCrankcase
8 TM05200 Spline Screw M5X20 (For tighteningignition coil)
9 PJ46064 Pin For Perla Barb 91.6cc Chainsaw
10 PJ46062 Pin For Perla Barb 91.6cc Chainsaw
11 PJ46063 Pin For Perla Barb 91.6¢cc Chainsaw
12 T0041- Collar screw Bar Sud For Perla Barb 91.6cc Chainsaw
13 PJ46061 Valve For Perla Barb 91.6¢cc Chainsaw
14 PJ46066 Pin For Perla Barb 91.6¢cc Chainsaw

15 T0009- Oil Hose
16 TO008 Qil Flter

17,22 PJ66009PRO  FarmerBoss™Qil seal set (fluororubber)17X32.9X3.6 15X22X4 For Perla Barb 91.6¢cc Chainsaw
18 T0014- Grooved ball bearing 17x40x14 For Perla Barb 91.6¢cc Chainsaw

19 PJ66007PRO- FarmerBoss™Crankshaft For Perla Barb 91.6¢cc Chainsaw
20 PJ66029A- Woodruff key ForPerla Barb 91.6cc Chainsaw
21 TO013PRO FarmerBoss ™6203 Grooved Ball Bearing 17*40* 12
23 PJ66026- Piston Needle Cage 12x17x13 For Perla Barb 91.6¢cc Chainsaw
24 T0086 Piston Shap ring 12x1
225 PJ66005B- Oylinder Gasket For Perla Barb 91.6cc Chainsaw
24,25,26,27  HS66054 piston kit with bore 54mm
27 HSH6605412  piston ring 54x1.2mm
24,25,26,27,28 QG66054--  cylinder piston kit with bore 54mm
29 BPMR7A----- Genuine NGK Spark Plug BPMR7Afor chainsaws Brush Cutters and many others
30 TM06250 SPLINE SCREW M6X25
31 PJ35031 Decompression Plug



Exploded View Spare Parts

www.[:hainsawspar'es.l:um.au

Perla Barb 91.6cc Chainsaw Continued

36 & 38

42,46

57-67
68 & 69

71-74

80-86

32 TO005-
33 PJ66092-
34 TM05160
35 PJ36073
37 TM05160
PJ66032-
41 PJ44006C-
PJ66004
43 TMO05160
45 TM06200
47 TMO05060
48 PJ66021-
49 TP06190
50 PJ26038-
51 PJ66019-
52 TM05120
53 TM05160
54 PJ66020-
55 TP06190
56 PJ66065-
PJ66012-
PJ66013-
70 PJ66010A-
PJ66010-
75 PJ66027
76
77 QR3757B7-
78 Pl44046
79 PJ18048-
T0028
87 PJ66041-
88 TP04080
89 PJ66042-
90 TM04120
91 TM05120

92 & 103 PJ66051A-

93, 94,

104-111

135-138

95 PJ66063-
94 TMO0O0005
96 PJ44044
98 TH05120
99 PJ66059-

100 PJ66060-
101 PJ66002C-
102 TOO31-
PJ66043-
104 PJ26065-
105 PJ26048-
107 PJ18043-
108 PJ26046-
109 PJ26049-
110 PJ18043-
111 PJ26045-
112 PJ66040-
113 PJ36109A
114 PJ36109B
115 TMO05400
116 TP06215
117 TP06190
118119 PJ66003-
120 TM05200
121 TPO6325
124 TP06190
128 PJ66021-
129 TP06190
130 PJ26038-
131 PJO5569
132 PJ02850
133 TP06190
134 PJ66066-
T0023-
139 PJ66029-
140 PJ88041

Decompression Valve M10X1.0 For Perla Barb 91.6cc Chainsaw
Rubber Cover For Dec Valve For Perla Barb 91.6cc Chainsaw
SPLINE SCREW M5X16 (For tightening hand guard & muffler)
Oylinder Buffer Cap For Perla Barb 91.6cc Chainsaw

SPLINE SCREW M5X16 (For tightening hand guard & muffler)
Shroud Cover For Perla Barb 91.6cc Chainsaw

Muffler Gasket For Perla Barb 91.6¢cc Chainsaw

Muffler For Perla Barb 91.6cc Chainsaw

SPLINE SCREW M5X16 (For tightening hand guard & muffler)
SPLINE SCREW M6X20

SPLINE SCREW M5X6

Annular buffer For Perla Barb 91.6cc Chainsaw

Self-tapping screw P6X19 (For tightening handle bar & annularbuffer & chain
Plug For Perla Barb 91.6cc Chainsaw

Annular buffer For Perla Barb 91.6cc Chainsaw

SPLINE SCREW M5X12 (For tightening Annular buffer & bumper spike)
SPLINE SCREW M5X16 (For tightening hand guard &muffler)
Annular buffer for Perla Barb 91.6cc Chainsaw

Self-tapping screw P6X19

Annular buffer Plug Cap (big) For Perla Barb 91.6¢cc Chainsaw
Oil Pump For Perla Barb 91.6cc Chainsaw

Worm and Spring For Perla Barb 91.6cc Chainsaw

Cover Washer For Perla Barb 91.6cc Chainsaw

Qutch For Perla Barb 91.6cc Chainsaw

Drum Needle Cage 10x16x12 For Perla Barb 91.6cc Chainsaw
Qutch Drum With Rm Sprocket 3/8"-7 For Perla Barb 91.6cc Chainsaw  63475-
Sorocket Rm 3/8"-7T For Perla Barb 91.6cc Chainsaw

Washer & 27 mm Thicker Type For Perla Barb 91.6cc Chainsaw
E-clip 8x1.3 For Perla Barb 91.6cc Chainsaw

Chain Adjuster 8pcs/set

Inner side plate 0.9 mm For Perla Barb 91.6cc Chainsaw

Pan head M4x8

Cover For Perla Barb 91.6cc Chainsaw

SPLINE SCREW M4X12(For tightening brake cover & oil pump)
SPLINE SCREW M5X12

Bumper Spike set WT Screws For Perla Barb 91.6cc Chainsaw
Chain Catcher For Perla Barb 91.6cc Chainsaw

Lock Nut M5(For tightening bumper spike)

Chain Catcher For Perla Barb 91.6cc Chainsaw

Hexagon head screw M5x12

Bumper strip For Perla Barb 91.6cc Chainsaw

Chip Guard For Perla Barb 91.6¢cc Chainsaw

G660 Dark gray chain sprocket cover For Perla Barb 91.6cc Chainsaw
Bar Nut M8 For Perla Barb 91.6cc Chainsaw

Brake Hardware Set (8 items) For Perla Barb 91.6cc Chainsaw
Brake Spring Hose 20 mm For Perla Barb 91.6cc Chainsaw
Tension spring For Perla Barb 91.6cc Chainsaw

E-clip 4 For Perla Barb 91.6cc Chainsaw

Level For Perla Barb 91.6cc Chainsaw

Tension spring For Perla Barb 91.6cc Chainsaw

E-clip 4 For Perla Barb 91.6cc Chainsaw

Level For Perla Barb 91.6cc Chainsaw

Brake Hand Guard For Perla Barb 91.6cc Chainsaw

Bushing For Perla Barb 91.6cc Chainsaw

Bushing For Perla Barb 91.6cc Chainsaw

SPLINESCREW M5X40

Self-tapping screw P6X21.5

Self-tapping screw P6X19

Handle Bar For Perla Barb 91.6¢cc Chainsaw

SPLINE SCRBW M5X20(For tightening ignition coil )
Self-tapping screw P6x32.5

Self-tapping screw P6X19

Annular buffer For Perla Barb 91.6cc Chainsaw

Self-tapping screw P6X19

Plug For Perla Barb 91.6cc Chainsaw

Grommet For Fuel Tank Perla Barb 91.6cc Chainsaw

Annular buffer For Perla Barb 91.6cc Chainsaw

Self-tapping screw P6X19

Annular buffer Plug Cap (small) For Perla Barb 91.6cc Chainsaw
Oil Cap

Metal Aywheel For Perla Barb 91.6cc Chainsaw

Rywheel Ay Wheel Nut For Perla Barb 91.6cc Chainsaw



Exploded View Spare Parts

WWW.I:hﬂiI'ISﬂWSpHI"ES.EI]I'I'I.ﬂI.I

Perla Barb 91.6cc Chainsaw Continued

141-156 PJ66028-- Ignition Coil For Perla Barb 91.6¢cc Chainsaw
144 PJ07068 Ignition Coil Grommet For Perla Barb 91.6cc Chainsaw
144145 PJ07014 Ignition Wire Lead For Perla Barb 91.6cc Chainsaw
147148 PJ36075 Ignition Lead WT Spark Plug Boot and Spring Assy
148 PJ36080 Ignition Lead Boot For Perla Barb 91.6cc Chainsaw
149 PJ66091- Rubber Cover For Ignition Coil Lead Boot For Perla Barb 91.6cc Chainsaw
157-171 PJ66080- G660 Dark gray recoil starter For Perla Barb 91.6cc Chainsaw

157 PJ66055- Pawl Spring For Perla Barb 91.6cc Chainsaw

158 PJ66054- Starter Pawl For Perla Barb 91.6cc Chainsaw

159 PJ66054A Spring For Perla Barb 91.6¢cc Chainsaw

160 PJ66024- Sarter Pulley For Perla Barb 91.6¢cc Chainsaw

161 TM04100 SPLINESCREWVMAX10

162 T0034 Sarter Spring For Perla Barb 91.6¢cc Chainsaw

163 TM04100 SPLINE SCREWVM4X10

164 PJ66052 Starter Segment For Perla Barb 91.6cc Chainsaw

169 T0046 Sarter Fope 900MM X4.5MM

172 TM05200 SPLINE SCREWV M5X20

173 PJ88090 Hexagon Nut M5 For Perla Barb 91.6cc Chainsaw

174 PJ66006A- Carburetor Bushing For Perla Barb 91.6¢cc Chainsaw

175 PJ66006- Carburetor Z For Perla Barb 91.6¢cc Chainsaw

176 PJ66039 Intake Washer For Perla Barb 91.6cc Chainsaw

177 PJ29027- Impulse Line For Perla Barb 91.6¢cc Chainsaw

179 PJ66049A- Grommet For Perla Barb 91.6cc Chainsaw

180 TD04100 Self-tapping screw P4x10 For Perla Barb 91.6¢cc Chainsaw

181 PJ66035- Air Filter Base For Perla Barb 91.6¢cc Chainsaw

182 PJ66036- Carburetor Bolt For Perla Barb 91.6cc Chainsaw

183 PJ29047- Hose clip & 36x5 For Perla Barb 91.6¢cc Chainsaw

184 PJ66037- Intake Seeve For Perla Barb 91.6cc Chainsaw

185 PJ66025- Intake Manifold For Perla Barb 91.6¢cc Chainsaw

186 PJ66035B- Bbow connector For Perla Barb 91.6¢cc Chainsaw

187 PJBBO18A Fuel Hose Sze:3.1x5.7mm Length: 1000mm

188 PJ66016A- Fuel Hose For Perla Barb 91.6cc Chainsaw

189 T0O006- Fuel Filter For Perla Barb 91.6¢cc Chainsaw

192 PJ44063 Ring For Perla Barb 91.6¢cc Chainsaw

193 TM05160 SPLINESCREWVMBEX16

194 PJ66006B- Carburetor Gomment For Perla Barb 91.6¢cc Chainsaw

195 PJ66030- Fuel Tank Assy For Perla Barb 91.6¢cc Chainsaw

195 PJ66030G- G660 Dark gray rear handle assy For Perla Barb 91.6cc Chainsaw
200-202 PJ66017- Fuel Cap For Perla Barb 91.6¢cc Chainsaw

203 PJ66044- Handle Molding For Perla Barb 91.6cc Chainsaw

204 PJ66035E- Axle For Perla Barb 91.6cc Chainsaw

205 PJ66035D- Contact spring For Perla Barb 91.6cc Chainsaw

206 PJ66045- Switch Shaft For Perla Barb 91.6¢cc Chainsaw

207 PJ66045A- Support For Perla Barb 91.6cc Chainsaw

208 PJ66049- Throttle Rod For Perla Barb 91.6¢cc Chainsaw

210 PJ38093- Torsion spring For Perla Barb 91.6¢cc Chainsaw

211 PJ26064- Throttle Trigger For Perla Barb 91.6cc Chainsaw

212 PJ38091- Trigger interlock For Perla Barb 91.6cc Chainsaw

213 PJ88082 Pan head self-tapping screw 1S-P4x19 For Perla Barb 91.6¢cc Chainsaw

214 PJ66034E- Air Baffle For Perla Barb 91.6¢cc Chainsaw

215 PJ66034C- Filter base For Perla Barb 91.6¢cc Chainsaw

216 PJ66034D- RAange For Perla Barb 91.6¢cc Chainsaw

217 TM051209 Sud M5x12x9 For Perla Barb 91.6cc Chainsaw

218 PJ88090 Hexagon Nut M5 For Perla Barb 91.6cc Chainsaw

219 Air Filter Intake Baffle for Perla Barb 91.6¢cc Chainsaw P166034B-

220 PJ66034A- Air Filter HD With Pre Filter For Perla Barb 91.6cc Chainsaw

221 PJ44070 Pre-Air Filter For Perla Barb 91.6cc Chainsaw

223 PJ66033- Air Filter Cover For Perla Barb 91.6cc Chainsaw

224 PJ66064- Twist Lock for Perla Barb 91.6¢cc Chainsaw



